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In OR method R is :

(A)  Upper triangular matrix
(B)  Scalar matrix

(C)  Lower triangular matrix
(D)  None of these

In Jacobi's method the value of @ for

least possible rotation lies in the range:

(A) ——<6<

W[y
W[y

B) —rz<06xrx

<6<

© -

N
N

IA
)
IA

D) -

NGRS
NGRS

y, =A2" +B3" isthe solution of the
difference equation:

(A)  Vuy2 =541 =6y, =0

B) V2 +3Vs1 —63, =0

(©)  Yis2 =3V 6, =0

(D) None of these

Number of normal equations for the

2

parabola y = g + bx + cx* are:

(A) 2
B) 3
© 1
(D) 4

(3)

ORIy & RE:
(A)  SUR-Brpig e

(B) TR oTefe

(©) Frt-Frpsi snes

(D) W | IR T

St oy & ¢ @1 9, e wetad
e & g WE H &

A) —%ses%

B) —rz<0xrx

T T
—Z <<=
(©) > >
T VA
—Z <<=

y, =A2" +B3" ST THHTT Hl &
&

(A)  Vpi2 =5Yy1 =6y, =0

B) Va2 +3¥,41 763, =0

(C) yn+2_5yn+l+6yn:()

(D) & & #g &

WIdd y=a+bx+cx’ & TEMEN
TN B A R

A) 2

B) 3

< 1

(D) 4

[P.T.0.]
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'goto' statement causes :

(A)  Forward jumping

(B)  Unconditional jumping
(C)  Backward jumping

(D) Alloftheabove

The 'break statement' causes an

exit :

(A) from innermost switch
(B)  from innermost loop
(C) Dboth(A)and(B)

(D) none of these

The three dimensional array is the

array of :

(A) Dataelement

(B) Two-dimensional array
(C)  One-dimensional array
(D) None of these

Which of the following is not right?
(A) intarr[3]=10, 20, 30
(B) itarr[ ]={10,20,30}
(C) intarr[3]1={10,20, 30}
(D) None of these
Conditional operators are :
(A)  Unary operators

(B)  Binary operators

(C)  Ternary operators

(D) None of these

(4)

'goto’ HYT BIROT ?

(A) ®RIS ST
(B) SIS SR
(C) Y&aS SIfEdT
(D) SWER a4l

'break statement' STEY ehel & TH
HT &

(A) from innermost switch

(B)  from innermost loop

(C) 3 (A) 3R (B)

(D) T q P T
array %1 BITAM array T
(A) ST TfHe

(B)  faemam

(C) TH-3EM

(D) T q FE T

e & @ & T2 TR R

(A) intarr[3]=10, 20, 30
(B) intarr[ ]=1{10,20, 30}
(C) intar[3]={10, 20, 30}

(D) & q HE &
Conditional operator% :
(A) T SRR

(B) T SR
(C) T SR

(D) T § BB T



10.

11.

12.

13.
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: . . ody 9
For differential equation — =1+ y~,

dx
y(0)=0, h=02; Runge-Kutta
number £, is :

(A) 0.235
(B) 0.200
(©) 0.230
(D) 0.202
The P.I. of the difference equation
(E-e)y, =eis:
1
(A) T—e
2
e
B L
(B) -
e
(©) -
&2
D
(D) 2

Which method is not related with
solution of differential equation?

(A) Newton-Raphson method

(B)  Euler's method

(C)  Picard's method

(D)  Runge-Kutta method

Value of the int 1]3—b
aluc o € 1miegra ,

g 01 2 y
LlSil’lg trapezoidal rule, n=31is:

(A) 225

(B) 1.25
(C) 275
(D) 3.75

(5)

10.

11.

12.

13.

FIFTT  FHHTOT % =1+)7,
y(0)=0, k=02 % A &g Ge
k, &

(A) 0235

(B)  0.200

(©) 0230

(D)  0.202

IR T (E—e)y, =e & PL
%

A) o
2
B
e
© o
eZ
D) 1-¢
HF-91 fafer eTawa aieT & &7 9
grafeed et 37
(A) - i
(B) TR fafy
(C) T fafy
(D) &I iy

Sfcomeed AW @ n=3 3 fom

3 dx
'[0 1+ x? WA E:
(A) 2.25
(B) 1.25
(C) 275
(D) 3.75

[P.T.0.]



14.

15.

16.

17.
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Chebyshev polynomials of the second
kind U, (x) is defined by :

(A) U, (x)=sin(nsin ' x)
(B) U, (x)=cos(nsin"' x)
(C) U, (x)=sin(ncos ' x)
(D) U, (x)=cos(ncos ' x)

T (x) is a polynomial of degree n

then :

A T,(x)=(1)'T,x)

B) TIL,(—x)=T,(x)

©) T,(x)=-D"T,(x)

(D) None of these

The value of A2 (ax+b)(cx+d) is :

(A) ab
(B) abc
©) b
(D) ca

If F(x)=a+bx+cx? then

jf F(x)dx equal to :

@& SLO+2/@+ 1)
B SLO+2/@+ 1)
©  SLO+2/@+ 1@

D) %[f(0)+22f(2)+f(4)]

(6)

14.

15.

16.

17.

e € & fEaE TER U, (x)
uReia &, &

(A) U, (x)=sin(nsin ' x)

(B) U, (x)=cos(nsin ' x)

(C) U, (x)=sin(ncos ' x)

(D) U, (x)=cos(ncos ' x)
T,(x) TF n i & g & o
A T,(=x)=(D"T,(x)

B)  L,(x)=T,(x)

©  Lx)=ED"T,(x)

(D) & 4 H5 T
A (ax+b)(cx+d) FAA R :
(A) ab

(B) abc
©) b
(D) ca

afy f(x)=a+bx+cx’? il

jf F(x)dx TR E:

@ SLO+2/@)+ 70
®)  SlO+2/@+ 1)
©  SLIO+2/)+ @)

D) é[f(0)+22f(2)+f(4)]



18.

19.

20.

21.
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The value of \/12 by Newton-Raphson  18.

method upto first approximation with

Xo=3.51s:
(A)  3.42
(B) 3.30
(C) 3.48
(D)  3.46
First approximation root of 19.

¥ —9x+1=0 lyingbetween 2 and 4
by Regula-Falsi method is :

(A) 2.454
(B) 2.464
(C) 2474
(D) 2.479

The eigenvalues of square matrix are ~ 20.

always :

(A)  Pureimaginary
(B)  Real or complex
(C) Real

(D) Complex

If A be a square matrix of order 4x4  21.

then the number of rotations required

in Given's method is :

A) 3
(B) 2
<© 4
D) 1

(7)

et [ g gew e
9 x, =35 & MU 12 & 99
&

(A)  3.42
(B) 3.30
(C) 3.48
(D) 3.46

W_W ffr a/ 23 _gx+1=0
H 2 AR 4% 9= Jod dfhed gq@
g

(A) 2.454
(B) 2.464
(C) 2.474
(D) 2.479

T e ® ST WM EA e
g

(A) g5 S
(B) drdidsh a1 wrey
(C) drdidsh

(D) G

a4 TH 4x4 X F; T TR B
q fow By & UM d@ e awEsd
E

A) 3
B) 2
© 4
D) 1

[P.T.0.]



22.

23.

24.

25.
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The formula for y, in Euler's method is: ~ 22.

A »m=n+hf(xn)
B)  y»m=n+hf,n)
©) »m=n+hfx.5)
D)  »m=n+hf(x,y)

The Milne's corrector formula is : 23.

1 ! ! [
(A »m=N +§h(y0 +4y1+ ;)

1 ! ! !
(B) yz=yo+§h(yo—4y1+y2)

1 ! ! !
<O »n :y0+§h(yo+4y1_J/2)

1 ! ! !
D) »n=xn +§h(y0_4)ﬁ_y2)

The value of y, for the differential  24.

equation y'=1-y, y(0)=0 and
h=0.1 for 0<x<0.3, by Euler's

method 1s ;
(A) 0.17 (B) 0.23
(C) 0.18 (D) 0.19

The value of ;I by Picard's method ~ 25.

for the differential equation
dy .

—_— =X = .

o Y,y(0)=1is:

(A) %x2+x—l

(B) %x2+x+l

1 -
—x"—x+1
© 5
(D) None of these

(8)

IR oy 7y, e g &
(A m=n+hf(xn)
B)  yy=n+hf(x.n)
©C)  »y=n+thf(xq,»)
D) m=n+hf(x,¥)
e 1wl g R

1 [ 1 1
(A) yz=yo+§h(yo+4y1+y2)

1 [ ! 1
(B) yz=yo+§h(yo—4y1+y2)

1 14 ! 1A
©) b} :y0+§h(J’0+4y1_y2)

1 / ! !
(D) »n :yO+§h(yo_4y1_J’2)

g Rf s 0<x<03 & R
AT FHIBTT ' =1—y, »(0)=0
AR p=0.1 § p,® o & :

(A)  0.17 (B) 0.23

(C) 0.18 (D) 0.19
e fafyr g otawas |fidon

d
d—i=x—y,y(0)=1 % fae ) @

q9 & :

—lx +x-—1
GV
B —lx +x+1
® 5

C lx —x+1
© 5

(D) = § B T



26.

27.

28.

29.
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If the root of the equation

x> —Jx+2=0 lies between 0 and 1
then :

A k>3
B) k<3
©) k>3
D) k<3

If we find £(80) from the following
data :

x |61[71]81]091
f(x)| 46|66 |81]93

then £(80) lies between :

(A) 46and66

(B) 66and S8l

(C) 8land93

(D)  None of these
Thevalueofxin x =12—-5%2+12/4

1S

(A) 4
B) 8
© 5
D) 9

Which of the following is invalid use

of Assignment operator?

(A)  s=2%¢
B) pr=q
C) a=b+2

D) x+y=zx*4

(9)

26.

27.

28.

29.

R FHET x° —hx+2=0 F A 0

AR 1 T A
A k>3
B) k<3
© k>3
D) k<3

AT &9 T Sflet & £(80) Wt Rt
g

x |61[71]81]091
f(x) | 46|66 ]81]93

ar £(80), % HeA BFT :

(A) 46 3R 66
(B) 663X 81
(C) 81393
(D) T ¥ I T

x=12-5%2+12/4 ¥ x @ WM
£

A 4
B) 3
©) 5
(D) 9

=1 & 9 9N e s & ST
T4 87

(A s=2%¢
B) pr=g
©) a=b+2

D) x+y=z=*4

[P.T.0.]



30.

31.

32.
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Runge-Kutta fourth order formulais:  30.

A A= %(kl +2ky +3k5 + ky )
h

(B) Ay :g(kl +2ky + 3k + ky )
1

h

The number of strips required in  31.

Weddle's rule is :

(A) amultiple of 5
(B) amultiple of 6
(C)  amultiple of 7
(D) amultiple of 4

If f(x) isgivenby 32.

x | f(x)
0] 1
0.5] 0.8
1] 05

Then using Trapezoidal rule, the value

of J;f(x)dx is :

(A)  0.770
(B) 0.675
(C) 0.775
(D)  0.765

(10)

HI-HTal g AT H G ©

A A= %(kl +2ky + 3k + ky)
h
1

h

dsol & EH § AEasdS qodl Sl qed
%:
(A) 5% oI
(B) 6% e §
(C) 7% ™ H
(D) 4% e §
A f(x) T B e o R
x | f(x)
0 1
05| 0.8
1|05

A Mteea e @ SE@T B

1
jof(x)dx & A D

(A)  0.770
(B) 0.675
©) 0.775
(D) 0.765



33.

34.

35.

36.

37.

Conditional operator is :

(A) ++
B) ?:
<© =

(D) >=

An integer constant in C must have :

(A) Digits separated by commas
(B) Comma along with digits
(C) Atleastone digit

(D)
The 'if ' statement is also called :

(A) Branching

At least one decimal point

(B) Looping

(C) Breaking

(D) All of these

How many times the loop in

"for (x=0; x =3; x++) " will run ?

(A) 2 times
(B) 3 times
(C) 4 times
(D) Never

Which of the following is not a loop? 37.

(A)  WHILE loop

(B) FORloop

(C) DO WHILE loop
(D)

None of these

KNP/MATH-0360-C/11400

33.

34.

35.

36.

(11)

qufaey TEes ®

(A) ++
B) ?:
© =

D) >=

C ¥ yorie fedis s&d &
(A) T o gr freefa
(B) odfeRm o el
(C) HA-9-F9 Th G&

(D) HH-8-F T ETE (&g
'if ' Wede B I8 I FHET T §
(A) SR

(B) g

(C) sifbm

(D) S a9l

q@ "for (x=0;x =3;x++)" g foraet
R gA?

(A) TSR

(B) @F s

(C) ¥R X

(D) & T

Pt & & &9 qU T oF
(A)  WHILE®

(B) FOR{

(C) DO WHILE
(D) T & HE T

[P.T.0.]



38.

39.

40.

41.
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What will be the output of following
program?

main()

{

intx =50

for (;x;)

X——

printf ("\n %d", x);

b

A 0

B) 1

() 50

(D) none of these

The expression a = 20 * 50 — 178

evaluates to :

(A)  -2560
(B) 2560
(C) 560
(D) 822

Which of the following statement is
used to take control to the beginning
of the loop?

(A) break
(B) continue
(C) exist

(D) None of these

A 'w'is used to indicate that a file is :
(A) tobeappended

(B)  opened for reading

(C)  used for writing

(D) all of these

38.

39.

40.

41.

(12)

=1 T @ output FT B?

main()

{

it x =50

for (5x3)

X— =
printf ("\n %d", x);
}

(A 0

B) 1

(C©) 50

(D) & & % &

FATH a =20 * 50 — 178 HT AN
R

(A) 2560
(B) 2560
(C) 560
(D) 822

frfeafag & & F9-91 HF control
& loop & U H & S 27

(A) break
(B) continue
(C) exist

(D) & q HE &

A 'w'is used to indicate that a file is :
(A) tobeappended

(B)  opened for reading

(C)  used for writing

(D) 3 4 @l



42.  Relation between D and E is :

(A)  E=¢™P
B) p= "t
€  E=¢"P
D) D=¢"*

43.  Which one is not related to numerical

differentiation?
(A)  Stirling formula
(B)  Trapezoidal rule
(C)  Newton-Gregory forward formula
(D)  Gauss third formula
44. Relation between Dand V is:
(A)  D=hlog(1-V)
(B) D=-hlog(1-V)

(C) D= %log(l -V)

(D) D= —%log(l -V)

45.  The third term in general quadrature

formula is :

w by,
A 13 2| 2

o hAzyO
® |37 2

n o’ hhyy
© |3 2 2

(D) None of these

KNP/MATH-0360-C/11400 (13)

DIARE ¥ g9 ¥ :

(A)  E=¢"P
B) p=t*
©) E=P
D) D=t

HF-91 GEAIHS STahaT § qHieed
T 77

(A)  TRefefT g

(B) sftemzea fram
(C) g -Bii ew-g
(D) T FEE G

DI v ¥ &= B :
(A)  D=hlog(1-V)
(B) D=-hlog(1-V)

(C) D= %log(l -V)

(D) D= —%log(l -V)

TH Flge] G & qa 06 &

o \hA’y,
A 13 2] 2

n n? hAzyO
® |37 2

n_n’ \hhyy
© 13 2 2

(D) 8 q B

[P.T.0.]



46.

47.

48.

49.
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If e=2.72, =739, & =20.09, 46.

¢* =54.60 then by Simpson's 1/3 rule

j: e dx =

(A) 53.87

(B) 53.77

(C) 53.67

(D) 53.57

From Trapezoidal rule J _33 X dx = 47.
(A) 110

(B) 115

) 112

(D) 114

General solution of difference 48,

equation 9y,., =6y, +y, =01is:

LV
A :[gj (q +cyh)

h

B) = % (q +cyh)
—h
©  »m=(3 (q +cyh)
N
(D) = ) (q +cyh)

The order of difference equation  49.

(A) 0
B) 1
© 2
D) 3

(14)

I e=2.72, > =739, & =20.09,
¢t =5460 T RraEE 1/3 W @

j:ex dx =

(A)  53.87

(B) 53.77

C) 53.67

(D) 53.57

Searzea frem j_33x4 dx =
A) 110

B) 115

©) 112

(D) 114

&AM & B

N
A) :(gj (q +cyh)

LY

B) W= Ej (q +cyh)
Y

©) = gj (Cl +czh)
Y

(D) »= Ej (¢ +cyh)

IR FHIHTT

Vies ¥ 2Vp+ vy =h+3 H AR E:

A 0

(B) 1

©) 2

D) 3



50.

51.

52.

53.

54.
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Value of V2 f(x) is:

(&) f(x)-f(x—h)

B)  fx+h)-f(x)

©)  f()-2f(x—h)+ f(x—2h)
(D) None of these

The nth divided differences of a
polynomial of the nth degree are :
A O

(B)  Constant

(C) Notconstant

(D) None of these

A=
(A) x+y+z
B) x-y-:z
<€) vz
D)  —(x+y+z)
If f(x)=x"—x , then the value of
f(3,4,5,6) 1s:
A) 0
B) 2
<€ 1
D) 3
S, xy,x) =
f(x,xo) —f(xoexl)
@ T
f(xo,x) —f(xo,xl)
® Ty

f(x,xo) —f(xo,xl)

x_.xo

©)

(D) None of these

50.

51.

52.

53.

54.

(15)

V2 f(x) AR E

(A f(x)—f(x—h)

B)  fx+h)-f(x)

©)  f)=2f(x—h)+ f(x—2h)
(D) & q % T

n TgIE B ndl v o
g

@A) 0

(B) &=

(C) SR &

(D) 3T & FE T
A2 =

(A) x+y+z

B) x-y-:z

© 2wz

D) —(x+y+z)
A f(x)=x —x A £(3,4,56) &
e ®

A) 0
(B) 2
©) 1
(D) 3
S (X, %5,%) =
f(xax())_f(XOrx])
"
S (g, %) — f (%9.%)
(B) x—x,
f(xax())_f(XOrx])
© T
(D) T 4 FR T

[P.T.0.]



55.

56.

57.

58.
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Root of the equation X -3x-5=0 55,

by Newton's method is :
(A) 2.235
(B) 2.246
© 2279
(D) 2.257

Newton's iterative formula for 56

.. -1.
obtaining @  is:

A x,.,=x,2+ax,)

n

(B) X, =x,(1+ax,)

© x4 =x,0-ax,)
D) x,.,=x,2-ax,)

Newton-Raphson formula is : 57.
_ S (x,)
(A) Xyl =% m
B X =X — M
( ) n+l1 n f’(xn)
f'(x,)
X, =X, +—"=
©) +1 7(x)
S (x,)
xn = .xn + <
(D) +1 7 (xn)
Bisection method is based on the : 58.

(A) Bolzano theorem
(B)  Weierstrass theorem
(C)  Cauchytheorem

(D) None of these

(16)

TR x° —3x-5=0 F e [y
SR

(A) 2.235
(B) 2.246
(C) 2.279
(D) 2257

a9 HW F R g H GREed
R

A)  x,,,=x,(2+ax,)

B) x,., =x(+ax)

© X =x,(-ax,)

D) x4 =x,(2-ax,)

FTATI G

X, =X +—f(x”)
(A) n+1 n f'(xn)

G
(B) n+1 n f'(xn)
C X =X +—f’(x")
( ) n+l n f(xn)

X . =X + ACH)
(D) n+l1 n fn(xn)
aEaeE fafy smeia @ -
(A) TS T W
(B)  dIETETE I W
(C) sk T W

(D) ™ 9§ B T W



59.

60.

61.

62.

63.
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1+M)(A-V) = 59.
(A) O

B) 1

© -1

D) 2

E2x? = 60.

(A x*+8x+16
B) ¥ +8x+12
©) ¥ +8x+14
D) x*+8x+18
If uy=3, =12,
u; =200, u, =100, us=8 then

Asuo =

(A) 700
(B) 750
(C) 755
(D) 760

A 5
7T 62.

(A) —6x2

(B) 6x°

C) —6x

(D)  6x

V Vi = 63.
(A) Ary k+r

B) Ay,

© Aryk

(D)  None of these

(17)

u2=81, 6]..

u, =81,

1+A)1-V) =

(A) 0

B) 1

© -

D) 2

E2x2 =

(A) X2 4+8x+16

B) X2 +8x+12

©) X2 +8x+14

D) x2+8x+18

aft uy=3, u =12,
u; =200, u, =100, us=8 qJ
A5u0 =

(A) 700

(B) 750

(C) 755

(D) 760

(A _6x?

B) 642

©) —6x

(D)  6x

Vry/’c+r =

(A) Aryk+r

(B) AH-ly/’ﬁr

© Aryk

(D) 3 q P& T

[P.T.0.]



64.

65.

66.

67.

KNP/MATH-0360-C/11400

Lagrange's interpolation formulacan  64.

be used for :

(A)  Onlyequal interval

(B)  Onlyunequal interval

(C) Both
interval

(D) None of these

equal and unequal

The operator u is defined by : 65.

&) u=y(E+ET)

1 _
B) u=j(E-E
(C) ,qul/z +E—1/2

D) ﬂ:%(Em +E‘”2)

Relation between D and ¢ is: 66.

. 1
(A) 0= smh(EhDj

. |
(B) 6 =2sinh (5 hDj

(C)  &=sinh(hD)
(D) &6 =2sinh(hD)

5y, = 67.
@a A

2

Al’l

®) Y

2
© A,
D) A"y,

(18)

RIS @ SaeE g WA R ST

TET B

(A) Faq T SR & [T

(B) %aq STHHAN TN & [T

(C) UM SR STFN ST ami
% fog

(D) W q FE T

AR 1 aRAMT B, gw

@) u=y(E+ET)

®) wu=s(E-ET)
©  u=E2rE
©)  u= B
DAR & & = T ¢ :

. 1
(A) 0= smh(EhDJ

: 1
(B) ¢ =2sinh (E hDj

(C) & =sinh(hD)
(D) &6 =2sinh(hD)

5"yx=
A}’l
(A) Yon
A}’l
(B) Yo
2
© Ay,
D) Ay,



68.

69.

70.
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In Simpson's one-third rule the

polynomial y is of the form :
(A) y=ax+b
B)  y=ax’+bx+c

© y=ax3+bx2+cx+d

(D) None of these

If C;/ are Cotes numbers then

A) 0
(B) 2
© -1
D) 1

X +nh

Weddle's rule is J- ydx =

X0

3h
(A) E(J’o =Sy+y, -6+

3h
(B) E(J’o +5) =y, +6y; -

Vg t+3yst. )
3h
Vg +3ys+. )

(D) None of these

68.

69.

70.

(19)

Rrqe & 1/3 W § Sg y B &
&

(&) y=ax+b
(B) y=ax2+bx+c

©) y=ax3+bx2+cx+d
(D) M q HE T
R C! ded @ wen ¥ A

(D) 1

+nh

aeaa;rﬁm%f:s ydx =

3h

(A) E(J’o =5y +y, =6y +
3h

(B) E(J’o +5) =y +6y3—

3h

(D) 8 q B

[P.T.0.]



71.  Solution of difference equation
Yn+3 _2yn+2 _Syn+l +6yn =0is:
B)  y,=q+62)" +03)"
©)  y,=q+6(-2)" +503)"
(D) None of these
72.  Solution of difference equation
Vyor =4V, +3y,=5" is:
n 1 n
A y,=qt¢-3 +§~5
n 1 n
(B) V,=¢+c(-3) +§-5
n ]' n
©) M =ata) =23
n 1 n
(D) Y, =¢+c(=3) —g-S
73.  Generating function of sequence {/}

is :

1
(A) (1-1)
t
B -y
t
© @y
1
B q-ry

KNP/MATH-0360-C/11400

( 20

71.

72.

ST FHIHT

yn+3_2yn+2 _Syn+l+6yn =0 P & %1

(A, =q+6(2)" +¢(-3)"
B) ¥, =+ (2" +¢3)"
©)  y, =g+ (=2 +¢3)
(D) T q F T

=T FqHDHIT

Yn+2 _4yn+1 +3yn = 5" @ & &

A) =Cl+c2-3”+%.5”
(B) ¥, =¢+cy(=3) +%.5n
C) Y, =¢+c3) _%.5”
(D) YV, =¢ +cy(-3) _%.5n

T {h} N ST FOH S

1
A) (-1)
t
B) 2
t
© 1-1)
1
(D) 1-1)



4. p
A px"
B)  nhx"D
©)  hx"D

(D) k2 D

75. In Newton-Gregory formula for
forward interpolation
P(x)=4,+A4(x-a)+
A(x—a)x—a—-h)+..... Sthe value
of 4y is:
(A fla+h)
B)  Af(a)
©  f)
(D)  None of these

76.  For the values of f(0)=1, f(1)=3,
f(2)=7, f(3)=13 the function
f(x) 1s:
(A ¥ +x+1
B) P +x+2
©) Y 4+x+4
D) ¥ +x+5

77.  If a given data contain 6 points, then
maximum power of A in Newton-

Gregory forward interpolation

formula is :
A) 2
B) 3
<€ 4
D) 5

KNP/MATH-0360-C/11400

74.

75.

76.

77.

(201)

A)  ax"D

B)  nhx" D

©  hx"D

(D)  ak? XD
FA-BA S1-STde g

P(x)=4,+A4(x-a)+

A(x—a)(x—a—h)+.... g 4, ®
e ®

(A f(a+h)
B)  Af(a)

©  flo

(D) W & B T

fO)=1, fO=3 ., f@=7,
f@3)=13 99 & U &H f(x)
L

A x4l
(B) x2+x+2
©)  X+x+4

D P+x+5

afe feam gam offeeT 6 fargatt @ sfafae
FIAT & A YIA-BAIR SB-Aqae G
g A % st 1 B

A) 2

(B) 3

C) 4

D) 5

[P.T.0.]



78.

79.

80.
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P.I. of the difference equation

Vs =4V, 4y, =3n+2"is:
(A 3(n+2)+n(n-1)2""3

B)  3(n-2)+n(n-12""3

©)  3(n+2)-n(n-12""3

D)  3(n+2)+n(n-12""

If the generating function of the

sequence <yn> is Y(t) , then

generating function of < Y +1> 1S :

o %

t
Roots of A.E. of the difference

equation

yn+2+yn+1+yn:n2+n+2 are :

®) -1 J_r3 i3
© _li;ﬁ

78.

79.

80.

(22)

ST FHIHT

Vs =4y, +4y, =3n+2" B PLE:

(A 3(n+2)+n(n—12""3

B)  3(n-2)+n(n-12""

©)  3n+2)-n(n-12""3

D)  3(n+2)+n(n-1)2""

e TR (y,) T B Y (1) 2
WA (Vypr) T TH GO B

X FHIHT

Vyi2 +yn+1+yn:n2+n+2 & AE.
%A S

® i3 i3
©) _li’ﬁ
P i3i\/§



Rough Work / % &M
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.
8. There will be no negative marking.
9. Rough work, if any, should be done on

the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

SEII4

a9 ¢

M1 A @ © O
=2 @ ® O
7w ® @ © ©

4. U U B 3k UM &1 oD e I
el B, I & HFTAR b Yo fha ST

5. gl IR Pad SMoTHodARo ITX-T%
(OMR Answer Sheet) W & &3 9= &
STk & UG w9 & ofEr o

FeE WX fer T SAY 9 TR erm

6. SMolHodNo ITX-TF% (OMR Answer
Sheet) W B 1 ferew @ @ 399 &R W
el RSl H HEAHYEE ge form S

7. e g & SuRa et e e
H T4 OMR Answer Sheet 39

T & & U B § I B qee
I WY AT-GRAH A S T S

8. foifea mfe =&t 2

9.  FB W W FM, UA-IRAH A, TP B
fer fou @l O W& R S R

10. O T Q-9 acepaey, ST Rl SgeX
B & ST O ST START T a2

1. 99 & [l Ud SUs @aXeT § iear e

B A H U H IS TR & A
B
oA UgRTE @R T e S @
@ & B ueigRaE @ @l ge sl B
gC &1 AR ywyfam & 9% w4 @, @
wafeE B REmst @ s &= gEd

gegRaE M w A



